HA] S]Zo A HFe] that Atk Ry =120, Ry = 15Q, HA] Abo] A Ry = 6Q. #A] 1o ek

30 V7t AZAE o Stk wA] M7 I, [, oA L.
Zo] wA] 19] KVL:
30— 121 — 6(I;, — I,) =0

i
181; — 61, =30 (1)
wA] 2¢] KVL:
—15I, —6(I, — I;) =0
25,

61 — 211, =0 (2)

(241914 1,0l
I, = %112 =3.51

(1) Al -
18(3.51) — 61 = 30 => 63I — 61, = 30 = 57I, = 30

30
Ih,=—=0.526 A4
27 57
b,
I; =3.5x0.526=1.842 A
o
I, =1.842A, I, =0526A4
A 2

Al HIA] B2 oA A2 Ry =10, Ry = 14Q, Rz = 69, Ry = 5Q0]11, BA] 1] 30V, HA] 30f 18V

Aeo] ARl et WA AF I, b, [ T4 2.

Eo] HA] 1:
30 —101; — 6([1 — Ig) =0 = 16I; — 61, =30
HA] 2
—6(]2 — Il) — 1415 — 5([2 — 13) =0 = 6I;1 —25I, +5I3=0
HA] 3:

18— 5(I3— I,) =0 = 5I3 —5I, =18 = I3 =3.6+ I
5 A Aol I3 thY:
61y — 251, + 5(3.6 + I) =0 = 6I; — 201, + 18 =0
61, — 201, = —18

A A Ao A I
30+ 61

I, = T 1.875 + 0.3751,
EOE
6(1.875 + 0.37515) — 201, = —18 = 11.25 + 2.25I, — 20I, = —18

—17.751, = —29.25 = [, =1.647 A

et A,
I, =1.8754+0.375 x 1.647 = 2.492 A

I3=3.6+1.647=05.247TA
o

L =2492A, I, =164TA, I3=524TA



=A 3
T oA 32, A Ry =9Q, Ry =12Q, Ry =6Q, HA] 10 27V Hdd A4, v|A] M7 I, I, F-5HA L.

E9]
27 — 91 —6(.[1 —IQ) =0 = 1511 — 61, =27

—1215 — 6([2 — Il) =0 = —6I;+18I, =0
6[1 = 18]2 — Il = 3[2

o Q-
15(315) — 61 =27 — 391, =27 — [, =0.692A
I, =3x0.692=2.077TA
o
I, =2077TA, I,=0.692A
A 4

Al BIA] B2, G Ry =T7Q, Ry =11Q, Ry =4Q, Ry =6Q, HA] 10 21V, HA] 30 15V et &

WAl M7 I, I, I3 F-0FA] L.
Eo]

A.

21 =TI —4(I; — I,) =0 = 11I; — 41, = 21
AT, —I)) — 111 — 6(I, — I5) =0 = 4I; — 211, + 613 =0
15— 6(Is— I,) =0 => 615 — 61, =15 => I3 =25+ I
T WA Aol tfd:
Al — 211+ 6(254 1) =0 = 4} — 151, + 15 =0
AL — 151, = —15

A A Ao A I

21 4 4T
I = % =1.909 + 0.3641
9 &
4(1.909 + 0.36415) — 151, = —15 = 7.636 + 145515 — 151, = —15
—13.5451, = —22.636 —> [, = 1.671 A
I; = 1.909 + 0.364 x 1.671 = 2.514 A
I3 =25+1671=4171A
o
I =2514A, I,=1671A, I;=4171A4

A4 5
T uA] B2, A7 Ry =200, Ry =259, Ry = 109, WAl 161 50V A4 A2, dlA] A% I, [ Tk 2.

Eo]

=

50 — 20I; — 10(I; — I) = 0 = 30I; — 101, = 50
—95I, —10(I — I;) =0 => —10I; + 351, = 0
-
=

B A4
I, =351
w7

A

4ol Hh:
30(3.51) — 10l =50 = 9515, =50 = I, =0.526 A
I; =3.5x0.526 =1.842 A

I, =1842A, [,=0.526A



=4 6
FHlAl 3=, A% Ry =8Q, Ry =209, Ry =5Q, H|A] 10 40V et 44, WA AF I, [ 5HA] L.
Zo]
40 — 8]1 —5(.[1 —IQ) =0 = ].3_[1 — 5]2 =40
—2015 — 5([2 — Il) =0 = 51 +25I,=0
7 AR Ao A
I, =51,
A A Ao o<
13(513) — 51 =40 = 601, =40 — [, =0.667 A
I, =5x0.667=3.3334
o
I, =3333A, I,=0.667A
<A 7
Al HAl 22, AqF Ry = 15Q, Ry = 10Q, Ry = 5Q, Ry = 10Q, WA 10 45V, HIA] 30| 20V e}
AA. WA AR I, Ip, I3 FSHA 2.
Zo]
45— 151, —5(I; — I,) =0 = 20I; — 51, = 45
—5(]2 — Il) — 1015 — 10([2 — Ig) =0 = 511 — 251, +10I3=0
20-10(I3— ) =0 = 103 — 10 =20 = I3=2+1
= 7 Aol e

51, — 251, +10(2+ 1) =0 = 5I; — 1561, +20 =0
51, — 151, = —20
A A Ao A I

45+ 51
I = 2002 99510950,
20
TDES
5(2.25 + 0.251) — 15, = =20 —> 11.25 + 1.2515 — 1515 = —20
13750, = —31.25 —> I, — 2273 A
I, = 2.25+0.25 x 2.273 — 2.818 A
I — 2429273 — 4973 A
o

1, =2818A, [, =2273A, I3=4273A



=4 8

F oA B2, A Ry =18Q, Ry =10Q, Ry = 7Q, H|A] 1] 36 V 4 2. WA A7 11, I, F5HA L.
Eo|
36 — 181; — 7([1 — IQ) =0 = 25I; — 71, = 36

—101, — 7(]2 — Il) =0 = -TL+17,=0

17
=17, — I, = 7[2 = 2.4291,

25(2.42915) — 7T, = 36 = 60.725I5 — TI, = 36 => 53.725], = 36

I,=067A4
I =2429 x 0.67T=1.627T A
o
I =1.627TA, I,—067A
<A 9

Al WAl B2, A Ry =13Q, Ry = 9Q, Ry =5Q, Ry =T7Q, HA] 1] 39V, #IA] 3] 21V A4 4.
WA AR I, I, I3 TSN 2.
Zo]
30 — 131, — 5(I; — I,) =0 => 18I; — 5, = 39
—5([2 — Il) — 91, — 7([2 — Ig) =0 = 51 — 211, +7I5=0

21-7T(I3—1)=0 = 7I3—Tl, =21 = [3=3+1

4
r'E
=
1
2
fu)
A2

5I1 =21, +7(3+ 1) =0 = 5I; — 14, +21 =0

51, — 141, = —21
A AR Aof| A I:

I, = % = 2.167 + 0.2781,
EDES
5(2.167 + 0.27815) — 141, = —21 —> 10.835 + 1.39L — 141, = —21
—12.6115 = —31.835 = [, =2.525A
I; =2.167 4+ 0.278 x 2.525 = 2.867 A
I3 =3+42525=5525A4
o

I, =2867TA, I,=2525A, I3=05525A



A4 10
F A B2, A Ry = 14Q, Ry =220, Ry = 9Q, WA] 10] 44V At AF. WAl A7 I, I, F5HAIL.
Z9]
44 — 141, — 9([1 — IQ) =0 = 23 — 91, =44
—2215 — 9([2 — Il) =0 = —-9I;+31I,=0

31
9, =311, — I, = jfg = 3.4441,

23(3.44415) — 91, = 44 = T79.212[5 — 91, = 44 = 70.2121, = 44

I, =0627A
I, = 3.444 x 0.627 = 2.158 A
L]
I, =2158A, I, =0.627TA
24 11

Al HAl 32, A3 Ry = 11Q, Ry = 13Q, Ry = 8Q, Ry = 109, HA] 19 33V, H|A] 3¢f 24V 4
AA. WA MF7 L, 1o, I3 F-oHA L.
9]
33~ 111, — 8(I — I,) =0 = 19, — 8], = 33

—8(I, — I,) — 13, — 10(Iy — I3) = 0 = 8I; — 231, + 1013 = 0
24— 10(I3— 1) =0 = 10[3— 101, =24 = [3=24+1,
T WA Aol tfd:
81y —23L,+10(24+ I,) =0 = 81 — 13, +24 =0
8, — 131, = —24
A A Ao A I

L = % = 1.737 + 0.4211,
o3 7
8(1.737 + 0.4211) — 13I, = —24 —> 13.896 + 3.368]5 — 131, = —24
—9.6321;, = —37.896 = I, =3.937 A
I; =1.737 4+ 0.421 x 3.937 = 3.398 A
I3=24+3937T=6.337TA
o

I, =3398A4, I,=393TA, I3=6.337TA



<A 12
FHlA 2, A R =16Q, Ry = 19Q, Ry = 7Q, H|A] 10 38V St AZA. wlA| A7 I, [ F5HA 2.
E9]
38 — 161; — 7([1 — IQ) =0 = 23I; — 71, =38
—191, — 7(]2 — Il) =0 = -7 +26I,=0

26
71, =26, — I, = 7[2 = 3.7141,

23(3.71413) — 7l = 38 = 85.4221, — 71, = 38 — 78.4221, = 38

I, =0484 A
[ =3.714 x0.484 = 1.798 A
L]
I, =1798 A, I, =0484A
A4 13

Al HIA] Bz, A7 By =129, Ry = 18Q, Ry = 7Q, Ry = 9Q, HA] 1o 42V, H|A] 30f 27V At 2.
WAl A7 I, o, I FSHA 2.
=]
42 121 — 7(I; — I,) = 0 => 19I; — 7], = 42
—7([2 — Il) — 181, — 9([2 — Ig) =0 = 7L -27,4+9I3=0

27— 9(I3— L) =0 = I3 — 9], =27 = I3 =3+ 1,

4
r'E
=
1
)
fu)
o

THh =271, +9(83+13) =0 = 7, — 181, +27=0

71, — 181, = —27
2 WA Ao A I

42 + 71
I = 2212 9911 4 03681,
19
o3 7
7(2.211 + 0.3681,) — 181, = —27 —> 15477 + 25761, — 18Ty = —27
15494, — — 42477 —> I, — 2.753 A
I, = 2.211 + 0.368 x 2.753 — 3.222 A
I, — 3+ 2753 = 5.753 A
o

I, =3.2224, I,=27534, I;=5.7534



A 14
%ol 4] 812, AF Ry =210, Ry =240, Ry = 100, WA 19 60V A A2, ol 2] A% 1, [ F5H4 2.
Z9]
60 — 211y — 10(I; — I) =0 = 31I; — 101, = 60
—2415 — 10([2 — Il) =0 = —-10I; +341,, =0
3

4
10[; =341, — I, = TOIQ =341

31(3.413) — 10l = 60 = 105.41, — 10, = 60 — 95.41, = 60

I, =0629A4
I =3.4x0.629 =2.138 A
L]
I, =2138A, I, =0.629A
24 15

Al HlA] B2, |3 Ry =14Q, Ry =169, R3 =6Q, Ry = 8Q, W|A] 10 48V, H|A] 30 30V et AA.
WAl M7 I, I, I3 1A L.
9]
48 — 141, —6(I, — I,) =0 = 20I; — 61, = 48

—6(Iy — 1) — 161y — 8(Iy — I3) =0 = 61 — 301, + 813 = 0
30— 83— 1) =0 = 8I3—8l, =30 = I3=3.75+1,
= A Ao tg:
61, — 301, +8(3.75+ Ir) =0 = 61, — 221, +30 =0
61, — 221, = —30

A WA AlA L:
48461y

L 20 =24+0.31
EDES
6(2.4+ 0.3L) — 22Ir = —30 —> 14.4+ 1.8I, — 221, = —30
—202I, = —444 — [, =2.198A
11 =24+0.3%x2198=3.06A
I3 =3.75+2.198 = 5.948 A
o

I, =306A4, I,=2198A4, I3=5948A4



24 16

T oA B2, Aq Ry =22Q, Ry =18Q, Rz = 12Q, H|A] 19] 54V M4 AA. wA] A7 I, I, F-5HA L.
E9]
54 — 2211 — 12([1 — Ig) =0 = 34I; — 121, =54

—1815 — 12([2 — Il) =0 = —-121; +30I,, =0

30
12 =30, — I; = EIQ =251

Ib=074A
I, =25x0.74=185A
o
I,=1854, I,—074A
BA 17

Al HA] B2, A Ry =19Q, Ry =21Q, R3 =7Q, Ry =9Q, WA 10| 57V, H|A] 30 33V et AA.
WAl M7 I, I, I3 1A L.
9]
57191 — 7(I, — I,) = 0 —> 261, — Tl = 57

—T(Iy— 1)) =211, —9(Iy — I3) =0 = 7I; — 30, + 915 =0
33-9(I3—I,) =0 = 9I3 — 9I, = 33 = I3 = 3.667 + I
= A Ao di:
7I — 301, + 9(3.667 + I,) =0 = 71, — 211, + 33 =0
71, — 211, = —33
A AR AA I

I
=" 5199 1 02691,
%

o3 7

7(2.192 + 0.2691,) — 211, — —33 —> 15.344 + 1.8831, — 211, — —33

19117, — —48.344 —> I, — 2.53 A
I, = 2.192 + 0.269 x 2.53 = 2.87 A
Is = 3.667 + 2.53 — 6.197 A

o

I, =287TA, [,=253A4, I3=06.197A



24 18
F A B2, AT Ry =25Q, Ry = 17Q, Ry = 14Q, WlA] 10 65V b Q4. WA A7 I, I, 75HA] L.
Zo]
65 — 2511 — 14([1 — IQ) =0 = 39I; — 141, =65
—1715 — 14([2 — Il) =0 = —-141; + 311, =0

31
141, =311, = I = ﬂ12 = 2.2141,

39(2.2141,) — 141, = 65 = 86.3461, — 141, = 65 => 72.3461, = 65

I, =0.899 A
11 =2214x0.899 =1.991 A
o
I, =1991A, I,=0.899A4
A4 19

Al HIAl 32, A3t Ry = 17Q, Ry = 23Q, Ry = 9Q, Ry = 12Q, HA] 19 51V, HA] 3¢ 36 V 4
AA. WA MF7 L, 1o, I3 F-oHA L.
9]
51— 171, — 9(I, — I,) = 0 = 261, — 9, = 51

—9(Iy — 1)) — 231y —12(I, — I3) = 0 = 9I; — 351, + 1213 = 0
36 —12(I3— ) =0 = 12[3— 121, =36 = I3 =3+ 1,
T A Aof
95 — 351, +12(34+ L) =0 = 9I; — 231, + 36 = 0

9I; — 231, = —36
A Aol L

1491
=9 g60 10,3461,
%
o3 7
9(1.962 + 0.3461,) — 231, — —36 —> 17.658 + 3.1141, — 23T, — —36
10.8861, — —53.658 —> I, — 2.698 A
I, = 1.962 + 0.346 x 2.698 — 2.897 A
I = 3+ 2.608 — 5.608 A
o

I, =2.897TA, I,=2698A, I;3=>50698A4



=4 20
F Al 32, A3 Ry =23Q, Ry =19Q, Ry = 11Q, WA] 1] 58 V At 4. WA A7 I, [, F5HA 2.
Eo|
58 — 231 — 11(I; — I3) =0 = 341; — 111, = 58
—191, — 11([2 — Il) =0 = —-111; +30I,, =0

30
111, =30, = I = HIQ = 2.7271,

34(2.72715) — 1115 = 58 = 92.7181, — 111, = 58 = 81.718], = 58

I, =071A
I, =2.727 x0.71 = 1.936 A

I, =1936A, [,=071A

10



